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Chapter 3 Practice Test:

For #1-2, refer to the figure below.

1. Identify a plane that is parallel to plane ACD
A. plane ADH

B. plane BAD
@ plane EFG
D. plane DCG

2. Which segment is skew to
FG?
A.
B.

|3
9

Q|
=

h D. Ci

o

Refer to the figure below.
For #3 and 4, identify the special name for each angle.

3. 43and 210
Qsecuhve i . £s
4. <£9and 213

Coyrespan dwn
e s, 3

5. Given pllq and mz3 = 75, find mcsS.
A1EAsy - Tlgy
6. Given pllg and m£10 (3x - 7)and m£13 =(4x - 9)°
find x. x~F+Y%x~9 = (80

7. Given £1 = Z5, which postulate or theorem justifies
that ” o Convevse of +he
PUG" "Covy Zs postulate

8. Ifp|| g by the Consecutive Interior Angles Theorem,
of _which angle pair must be supplementary?

0Ny 210l €3, 118 €l6 , L38LD, or 2285

9. IfmZ4=7x-20and mZ8=5x+ 18, find x so that p

llg. 7X~20= Bx (8
2x=38

=19 )
10. Determine the slope of the line that contains the

given points.
a. P(=6, 3), (12, 9)
e 123

b.X(4, 5), O(-1,2)

¢ M-8, 14), N(-8,=11)  d.A(2,-5), B(8,-5)

ST oS o
s AR (T m==~5-G5) &
M= 30" ® G

undefined s =0

(g s m o
j2-Ce) 18 "".T.TZ’-&'% 5

11. What is the slope of a line paralleLto the line
containing (=6, —6) and (9, 14)?
m=l‘4~(‘6):@ -4 |m=M
G-(¢) 15 3 2
12. Find the slope of a line perpendicular to the line
containing (-8, IOland (0,9).
-0 =
m: = - TE i
13. Find the equation of the line with slope 3 that

V=75 S (X+ED)

LOpE L

contains (-4, 7)?

14. Find the equation of the line with x-intercept 2 and y-
intercept 122 (2,0 €Oy 12) -

MUIECHY 78 )
0-2°-2:=-°C @

15. Find the equation of the line containing (1, =3) and
(7,15)?

16. What is the equation of a line that passes through (1,
5) and is perpendicular to the line y = — %x +4

M= y-5=2(a-\) ;
‘3 Bx+3

17. Find x and y
T.5K= BR=S
~0.5x=-5

(7\=10‘

GY-2+75 = 160
Qy422=183
@y=108

Yrt3= 55
Yx=YR
(7\\\7. )

m=15-(-3) kS A @3}3‘36‘ |
sl Ga Yy=3x-b |
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18. Find the slope of each line.

a. Find the slope of i -
TU \
m=—
> G
b. Write the @ Y
equation of a line Vi
erpendicular to ]
perp ir

TU that passes
through (2,3) m= G

\5»3=~(,U\‘7-§

9\$1 mox 12 For each proof, use the figure on the above:
-bxX+IS
i x and yl|z

28. Given: m£16 = 34,w|

R —

Determine whether BT and MV are parallel, Prove: mes1 = 34°
perpendicular, or neither. EXPLAIN. _ Statement L Reasen.
19. B3, 5) 76,1, M2, ), 14, 3) ®WLUL=3% W% [© Griven
E L D Y. o WP
v =ikled - 8
¥ “1-(«2) O ® vvu_ o =m&2 (@ covvés BRpuh
W)eﬂd\(v\ar\ peoxe 'W\o Dopes of 24 &3 ave @ mii=EBmU2 (B ot ext Lth.
prcat
Given the !ol owmg mfarr‘natmn, d‘etermme which lines, if @ ma=34° SUoSt,
any, are parallel. State the postulate or theorem that 29. Given: m£2 = 80, w||x and y||z

justifies your answer.
Prove: m«8 = 100°

20. £9= £16

clld, conv.ditextcs h. Satement f&asen 3

T ARG < L2290 (O ghuen,
ARVE ‘ Mz =mil (@) Covv &s prsiutate

L0 DN a5 (@OEBTEE [N
23. me12+ mg{lrzt:wo O 3otmes=ies SUNDSTITuh on
oW .
cllg,, mnsanm. £ h eove ® migeiwe SVot- P,

30. Given: ms9 = (3x — 5)°,ms16 =
24. If m£9 = 110 and m£8 = 30, find m£6. (8x — 40)°,w||x and y||z
Prove: m49 = 16°
Siatement

®MLa= (-5 mae=
®x ~“\0)“J\,)\Ix,5\\ £2

WMLq=msil6 ok ext < 4y,
® 3x-5= gx-M0 3 svost.
@ -®&--35 add fsvot. prp
304010+ Ml =190 ® x=3 dw. prep.
® meq=3H)-s SVos.
@ mea=1o" Simplify !





